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ZZ1R . Root Word

[ BRI T }

'fﬁu-l ccdonna)%nﬂi

B8 LEA

JREY : don

20k - LEADMEOHPA(house), LEA
M52 3(give)




218 Tdony Z#Hi> CL\BEE=0

Don(EA. X9 D)
donate
FAELTXBCT D
King + dom(house)
kingdom | Fox_EE
d h
dormitory om{house) =+ tory
=
dom(house) + stic(FE&:d)
3 :
omestic =D END
dom(house) + cile(easy)
domicile I APT L\ B{EH




Bl 2

RO SBIRZHER T D

peach-

impeach

patch-

dispatch

« Peach = ped : foot
« O :in + peach(ped) ; foot ; B%PIC; HET S

« Patch = ped : foot

- ROk : dis(away) + foot ; foot away ; send away

=3Zh9 S
Patch = ped ; foot
Patch = ped ; foot
The government dispatched 15,000 police to restore order.
hance- deem-
enhance redeem
+ Hance = high + Deem = dom ; rule

« Bk - en(to) + hance(high) ; && 3

Hance = high

« Bk : rule again ; make free ; %0, HETD

Deem =dom ; rule

stag-

stagger

hiber-
hibernate

« Stag = stick ; pole
« JEOK : stick walk ; walk unsteadily ; 3352 <

« Hiber = iberian ; irland = winter
- Bk :ZERITD

Stag = stick

Hiber = iberian ; winter

cher-

cherish

+ Cheri = charity ; char = car ; run the love of
Christ
« B RYICT S, DIcia<

stray-

astray

« Astray = a stray = street ; wander the streets
- B EZEHRES

Cheri = charity

stray = street
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Prefix T-baros Z=#F-> TL\33E=H

‘ baro- ‘
Baro(weight) + meter(measurel3)
barometer
S5 ->REST
barograph Baro(weight)+ graph(writing)
S zZicEx—~BEeR/EET
baron Baro(heavy)
BUVWA BE2RA=88
bariton bari-(heavy) + tone (53)
sL\—~>/\U kY, tenor&bassDfE]
Baro(weight) + age({fE5N7=H D)
barrage
BVNDHDDH =R D —~EfaN




@Suffixh SHERIT B

I -let |

-letD &0k

JINE L)
small

¢




Suffix T-let; &> TL\DEB=HI

| -let |
booklet Book + let(small)
INF
piglet Pig + let(small)
T X

Ankle(B8) + let(small)

anklet o h

Neck(&) + let(small)

necklet =5 L3R




DAlphabet 57T S
[ Alphabet(3E&7 }

AlphabetD2hH\ 5 Bk Z =89 D

Bl | BDEST"DOFEHLER,

FHETFHEILLS5ATWNS,
LI E5ATUNDBDIX—Y




'B) OEHhoBkzHERIT S

BOF =5 ATLDBE

Ball

Belly

Bubble ;
Balloon

Bread

Barrel




